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1 | y(t) = Asinkt + Beoskt (A, B \3ERER, kITEH) 23, XX zHi-9 I Lz2Re.

Show that y(t) = Asinkt 4+ B coskt (A, B, k; const.) satisfies the following differential eq.
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Let y(x). Find the general solution. If an initial condition is given, find a special solution.
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(e) d£+3y = 3sin2x + 2 cos 2z
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Solve 3 + 2y = —e?®y? for y(x). Hint: divide by »?, then substitute y as u(x) =y~ L.

4 | 2y I AN AYDIREDRHIZA I, 2D L EDHEME DAEIHHT S, Thb

b, EEA 30 PO DL E, BAICBT 27 A R a—E—DRRE T() °C] 14,

dr
dt
L%, WE, t=0T5[Cl Eok7AAa—t—=2% 25210 °C] Ick>7. 647
BT [°C] 2>,
The temperature T of a glass of drink increases with time ¢, obeying the above differential
equation in the room with 30 [°C]. If T"is 5 [°C] at £ = 0 and 10[°C] at ¢ = 2(min), then
what is 7" at ¢t = 6(min)?

= k(T —30) (k> 0;E%)



